Jméno, třída …………………………………….


1) Rozložte dané výrazy na součin:
50x2 y4 –  18y2
9s(r + 7) +3(r + 7) 

3x3 – 18x2y + 27xy2
2) Krácení lomených výrazů (+ podmínky):
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3) Sečti nebo odečti lomené výrazy: 
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Podpis rodiče …………………………………


_1289838213.unknown

_1289838233.unknown

_1289838240.unknown

_1289838249.unknown

_1289838253.unknown

_1289838256.unknown

_1289838245.unknown

_1289838235.unknown

_1289838226.unknown

_1289838229.unknown

_1289838220.unknown

_1289838203.unknown

_1289838209.unknown

_1289838200.unknown

